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Answer ALL que'stio_in_s. E

PART A~ (10 x 2 = 20 marks)

- 1. What is Gale's table? What is its-usé? )

2. Define : Satellite Station. |

.3, Define : Systematic Error.

4. Define : Lavel Net.

1

“ What do you mean by the term leﬂatelfation?
6.  Explain the Term .’I‘J’L;avell"sing.

7. Expand. the terml.GPS.

8. | What do yé)'u mean by.Selective Avail'a.bil_vity?

: 9 | Define : AZ_iIlll:lth.

-10.  Explain the term Transition Curve.




11

: . .'.(.b) 7

12.

18,

(2)

(@

(b)

(a)

(b)

PART B

~

— (5 x 13 = 65 marks)

From a eccentric station S, 5.8 m from the main triangulation s’tation, A,
the following directions were observed : :
. . A 0° 0, 0” 'V
B 132° 18- 30"

L C o3 24 @

D 296° 6 11" .

The lengths AB AC andAD were computed to be 3265 5 m, 4022.2 m anci 3
3086.4m reepeetlvely. Determlne the__dnectlons of AB, AC and AD.  (13) '

B

L Or L

'Wute a note on the Tnangulatlon flgures and 1ts types Enumerate the =
_ 'vauous cmteua f01 the selectlon of the ﬁgmes :' S o (13) _ :

I‘md the most plobable value of the angle A ﬁom the followmg

.observatmn equatlon

LA =30° 28 407, 3A 91° 25’ 55” 4A 121° 54 30” - ' (13)’.. '

Or. A

The angles of a triangle ABC were recorded as follows : "

CA=TT1420" W = 4

B = 49° 40’ 35" Wt. = 3
C=53° 04 52" Wt.= 2

. Give the c’errecteti values of the angles ueing method of correlates. (13)

-

What ie‘a Total Station? List eut the various operations that ave possible -
- with total stations. What the advantages of uging Total Stations? (13)

" Or

-

EDM has slope dist‘ence, AB of 561.276 m. EDM instrument is 1.820 m

above station A, .a'nd the prism is 1.986 m above station B. The EDM is
mounted on a theodolite whose optical center is 1.720 m ab()ve the

station. The theodolite measuled a vertical angie of +6° 21’ 38” to talget :

on prism-pole; the target is 1.810 m above station B. Compute both the
honzontal distance AB and elevation of station B given an elevation at A

" of 186.275 m. : : (19
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o

Write a note on the different seémehts of the GP:S. - .(_13) :

~Or

‘Write a note on the Signal Structure. - | S . ' (13) _

“Two st1 a1ghts T;V and VT2 of a road curve meet at an angle of 80°, Fmd'
" the radius of curve which will pass thzough a pomt P, 30 m from the -
P I (V), the angle T;VP being 30° RS i : (13)-

‘Or

' The followmg observatlons of the sun wele taken for aznnuth of a lme in’
'connectmn with a survey RSN - :

' | A"Mean time=16h 30 m _ _ ,
i Mean horizontal angle between the sun and the 1efeumg obJect 18° 20’ 30” .
_ .. ' Mean corrected altltude 33° 35 10” s S LT ' S
T Dechnatmn of the sun from N. A = +22° 05 36”-_-'.' - :_: e
. Lat1tude of place = 52° 30’ 20" ' S

Detenmne azunuth ofline. . R T, '_'(13j'

PARTC——(IXIS 15111a1ks) T

What the various apphcatlons of Suxveymg in C1v11 Engmeeung'? - (1B)

_ oo Or . . -

What the various applications of Hydrographic Surveying? - (15)
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